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1. Find the total number of factor of 1470.

1470 ds dqy xq.ku[k.Mksa dh la[;k Kkr djsaA
(a) 20

(b) 18

(c) 24

(d) 22

2. Find the total number of factor of 3600.

3600 ds dqy xq.ku[k.Mksa dh la[;k Kkr djsaA
SSC CGL Tier-II, 12 September 2019

(a) 45

(b) 44

(c) 43

(d) 42

3. Find the proper factors of 2940.

2940 dk leqfpr xq.ku[kaMksa dh la[;k Kkr djsaA
(a) 34

(b) 36

(c) 24

(d) 32

4. If N = 411 + 412 + 413 + 414, then how many

positive factors of N are there?

;fn N = 411 + 412 + 413 + 414

rks N ds dqy fdrus /ukRed xq.ku[kaM gksaxs\
(a) 92

(b) 48

(c) 50

(d) 51

5. If N = 44 + 66, then find the number of

factors of N.

;fn N = 44 + 66 gS] rks N ds xq.ku[kaMksa dh la[;k
Kkr djsaA
(a) 28

(b) 56

(c) 14

(d) 7

6. Find the number of odd factors of 7200.

7200 ds fo"ke xq.ku[kaMksa dh la[;k Kkr djsaA
(a) 4

(b) 9

(c) 54

(d) 45

NUMBER SYSTEM : FACTORS
(CLASSROOM SHEET)

7. Find the number of even factors of 10500.

10500 ds le xq.ku[kaMksa dh la[;k Kkr djsaA
(a) 48 (b) 16

(c) 32 (d) 46

8. The sum of all factors of 19600 is :

19600 ds lHkh xq.ku[kaMksa dk ;ksxiQy Kkr djsaA
(a) 5428

(b) 54777

(c) 33667

(d) None of these

9. The sum of all factors of 23100 except the

unity is :

23100 ds lHkh xq.ku[kaMksa dk ;ksxiQy 1 dks NksM+dj
Kkr djsaA
(a) 11907

(b) 83328

(c) 83327

(d) 11903

10. The sum of odd divisors of 158760 is :

158760 ds fo"ke xq.ku[kaMksa dk ;ksxiQy Kkr djsaA
(a) 41211

(b) 618165

(c) 576945

(d) None of these

11. The sum of even divisors of 4096 is :

4096 ds Lke xq.ku[kaMksa dk ;ksxiQy Kkr djsaA
(a) 6144

(b) 8190

(c) 8192

(d) 6142

12. The sum of even factors of 1800 is :

1800 ds Lke xq.ku[kaMksa dk ;ksxiQy Kkr djsaA
(a) 403 (b) 6045

(c) 6448 (d) 5642

13. What is the sum of reciprocal of all factors

of number 360.

la[;k 360 ds LkHkh xq.ku[kaM ds O;qRØeksa dk ;ksx D;k
gS\
(a) 2.65 (b) 3.25

(c) 3.48 (d) 4.20
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14. Find the product of all factors of 544?

544 ds lHkh xq.ku[kaMksa dk xq.kuiQy Kkr djsaA

(a) 12 (b)
3

2544

(c) 558 (d) 5446

15. Find the product of all factors of 1800?

1800 ds lHkh xq.ku[kaMksa dk xq.kuiQy Kkr djsaA
(a) 180018 (b) 18008

(c) 90018 (d) 9008

16. If 847 × 385 × 675 × 3025 = 3a × 5b × 7c ×

11d, then the value of ab – cd is:

;fn 847 × 385 × 675 × 3025 = 3a × 5b × 7c × 11d

rks ab – cd dk eku D;k gksxk%
SSC CGL MAINS 29 Jan 2022

(a) 4 (b) 5

(c) 1 (d) 7

17. Find the number of prime factors in the

product (30)5 × (24)5.

(30)5 × (24)5 ds vHkkT; xq.ku[kaMksa dh la[;k Kkr djsaA

CGL 2019 Tier-II (18/11/2020)

(a) 45 (b) 35

(c) 10 (d) 30

18. The number of divisors of 6600 which are
greater than 10 is :

6600 ds mu xq.ku[kaMksa dh la[;k Kkr dhft, tks 10
ls cM+s gSaA

(a) 12

(b) 40

(c) 48

(d) 36

19. The sum of divisiors of 10800 which are
perfect square.

10800  ds mu xq.ku[kaMksa dk ;ksx Kkr dhft, tks
iw.kZ oxZ gSA

(a) 393120

(b) 6240

(c) 5200

(d) 5460

20. The number of factor of 7200 divisible by
40.

7200 ds 40 ls foHkkT; xq.ku[kaMksa dh la[;k gS %

(a) 18

(b) 54

(c) 9

(d) 20

21. Find the ways to express 240 as product
of two factors.

240 dks nks xq.k[k.Mksa ds xq.kuiQy ds :i esa O;Dr
djus ds rjhdksa dh la[;k Kkr djsaA

(a) 10

(b) 11

(c) 64

(d) 20

22. Find the ways to express 11025 as product
of two factors.

11025 dks nks xq.k[k.Mksa ds xq.kuiQy ds :i esa O;Dr
djus ds rjhdksa dh la[;k Kkr djsaA

(a) 13

(b) 14

(c) 27

(d) 30

Answer Key

1.(c) 2.(a) 3.(a) 4.(a) 5.(c) 6.(b) 7.(c) 8.(b) 9.(c) 10.(a)

11.(b) 12.(d) 13.(b) 14.(d) 15.(a) 16.(b) 17.(b) 18.(b) 19.(d) 20.(a)

21.(a) 22.(b)
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